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QUESTION 1

Your database instance is started using an SPFILE. You are connected to cdb$root, as a DBA. You issue: 

SQL> ALTER SYSTEM SET STATISTICS_LEVEL=ALL SCOPE=BOTH; Which two statements are true about the
statistics level parameter? 

A. It is immediately set to all in the SPFILE and the CDB instance. 

B. It is immediately set to all in only those pluggable databases (PDBs) where the value is set to typical. 

C. It is immediately set to all only for cd3Sroot. 

D. It is immediately set to all in all PDBs where the statistics_level parameter is not set. 

E. It is set to all for all PDBs only in the SPFILE. 

Correct Answer: AD 

When the STATISTICS_LEVEL parameter is modified by ALTER SYSTEM, all advisories or statistics are dynamically
turned on or off, depending on the new value of STATISTICS_LEVEL. When modified by ALTER SESSION, the
following advisories or statistics are turned on or off in the local session only. Their system-wide state is not changed. 

 

QUESTION 2

Examine the command: 

SQL> RECOVER DATABASE USING BACKUP CONTROLFILE UNTIL CANCEL; 

In which two scenarios is this command required? 

A. The current online redo log file is missing. 

B. A data file belonging to a noncritical tablespace is missing. 

C. All the control files are missing. 

D. The database backup is older than the control file backup. 

E. All the data files are missing. 

Correct Answer: AC 

Reference: http://searchoracle.techtarget.com/answer/Recover-database-using-backup-controlfile-until-cancel 

 

QUESTION 3

Which three requirements must be met before a tablespace can be transported across different platforms? 

A. Both the source and target databases must use the same character set. 
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B. The platforms of both the source and target databases must have the same endian format. 

C. The compatible parameter value must be the same in the source and target databases. 

D. The minimum compatibility level for both the source and target databases must be 10.0.0. 

E. The tablespace to be transported must be in read-only mode. 

Correct Answer: ADE 

Reference: http://docs.oracle.com/cd/B28359_01/server.111/b28310/tspaces013.htm 

 

QUESTION 4

RMAN is connected to a target database instance and an auxiliary instance. You execute the command: 

RMAN> DUPLICATE TARGET DATABASE TO dupdb FROM ACTIVE DATABASE SECTION SIZE 1G; 

What is the outcome? 

A. RMAN uses the push method to transfer image copies. 

B. RMAN uses the push method to transfer backup sets. 

C. RMAN uses the pull method to restore files using backup sets. 

D. RMAN uses the pull method to restore files using image copies. 

Correct Answer: C 

 

QUESTION 5

Which statement is true regarding the creation of nested plans using the Oracle Resource Manager? 

A. Only one nested subplan is allowed per parent plan 

B. The plans can be nested up to four levels. 

C. Nested plans only control resources used by recursive SQL 

D. Nested plans control only the degree of parallelism and I/O requests 

E. Each nested plan gets a proportion of the CPU resources assigned to its parent group. 

Correct Answer: E 
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